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-30L 79.4321%200, 00004 15,886
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O0ISHA HASE 12,0002 4642+ 122 9,216
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201 LBre | 33,240 19,520 13,720
02 BB=22H| 33,240 19,520 13,720
OFAIIAH L 22/H| 7,500,000 *2CH 15,000
OLSEA HEA Helbl 760,009 *2CH+122 18,240
QAHSAE L BESFTA 22 520,551 267,021 253,530
Al 168,500
7 2 352,051
x5 pe 512,691 163,211 349,480
Al 168,500
= 344,191
201 2Bre Y| 40,042 34,562 5,480
Al 5,500
= 34,542
01 Ak 22l 14,600 5,500 9,100
OZBEs®A X Heldl 218,750 640 4 14,000
Al 5,500
= 8,500
ORISR E AL B 600, 000! * 14! 600
02 BB2H| 25,442 29,062 13,620
OZ=3%4 B33 13,440
Pl 110,000 *9H A #1224 11,880
+223 130, 0008 20§ £ +62 1,560
OZ=3H4 En4HE
33%1%3,460 4 *7H A+ 12 11,045
O7R22 BEIFA HFHE M 242
((31.5-0.75) m +14,9009!+20, 2302 ) 23| 957
307 812+0| H 146,649 128,649 18,000
05 SI2tRIE 2 146,649 128,649 18,000
OZE3Hal 21293 146,649
401 Al HI L 2R 326,000 0 326,000
Al 163,000




SN BAHED
HE: RS CABY T4
Sl RATIAIL L ZEIHFY 22 (9l &2
_ . HEE =
SN -BH - S(B) - MRAY - BES Off &k il b o HRE2
= 63,000
01 Al bl 326,000 0 326,000
OZEaFY N2+ 326,000
Al 163,000
2 63,000
Hax B4 2ol 7,860 7,810 50
201 Lpr2e Y] 600 550 50
01 AL 22 bl 600 550 50
OFSE HA018 ot SHH
60,0002 108 A 600
307 ©I2+0IF 7,260 7,260 0
05 BI2tRIEr2 7,260 7,260 0
O=Hel 40 D23
12%110,000,000 ¢ /10+6/100 7,260
HOI2 2Ys ¥ 8 HEs 1,683,115 1,562,950 100, 165
Al 20,000
2 1,663,115
SASE HIIZ Hel 1,653,500 1,517,760 135,740
201 Lt eH) 2,000 900 1,100
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SExgRE 125,000 «64H » 12 96,000
ALY A=Y 70,0003 64E 122 53,760
-3 616,488
Jlge=d 1,817,470& x200%*64 H 232,637
d2xg 1,817,4703 »80%+64& 93,055
M et 1,817,470 »250%*64H 290,796
—-SclZF4H| 454,462
ZFHZ A 160, 000& «64H 122 122,880
I N 110,000& «64H » 123 84,480
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